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separate Answer-Sheet provided.

1. In this Paper you are to answer 90 questions.
F.ach question carries one mark., You are to answer all the
questions.

2. Find out the correct answer to an item given
in the test booklet out of alternatives , @, @

and (d)and puta cross-mark inside the circle ()

surrounding the corresponding correct answer to the item
in the Answer-Sheet.

Example : , ®, @, @
(Here ‘b’ is the correct answer.)

3. Itmay be presumed that the answer givenby you
in the first attempt is incorrect and you want to revise
your answer, Blacken the circle completely and then put
a cross-mark afresh inside the circle you think right. You
are not, however, permitted to revise your answer more
than once in each case.

4. However, there will be no penalty marks for a
wrong answer.

5. You are to start recording answers with the
word ‘start’ from the Officer-in-Charge of your room/hall.

6. You are to write your name and Roll No. in the
space provided for this purpose on the Answer-Sheet
and Roll No. only on the cover-page of the Question
Booklet. Do not write your name in any part of the
Question Booklet.
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MENTAL ABILITY TEST

(Questions 1—10)

DIRECTION: In each of the questions 1 to 10,
there are four items, three of which are alike by
some means or other while one is out of the class.
Find out the odd item and indicate your answer by
putting a cross-mark (x) inside the circle of the
corresponding item on the Answer-Sheet.
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1. (a) Dhaka
(b) Baghdad
(c) Japan
(d) Delhi

(a) Triangle

(b) Pentagon

(c) Parallelogram
(d) Cone

(a) Volume
(b) Walit
(c) Second
(d) Joule

(a) Rose

(b) Couli-flower
(c) Jasemine
(d) Merrigold

(a) Tennis
(b) Clothes
(c) Boxing
(d) Badminton

(a) Gold
(b) Brass
(c) Silver
(d) Sodium

(a) Lithium
(b) Calcium
(c) Sodium
(d) Potassium

4.

50

6‘

7.
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8. (a) Eye
(b) Hand
(c) Leg

(d) Finger
(a) March
(b) February
(c) January
(d) August
(a) Milk
(b) Oil

(c) Kerosene
(d) Juice

9.

10‘

(Questions 11—20)

DIRECTION: Read the questions carefully and
give the answer by putting a cross-mark (x) inside
the circle of the letter denoting your selected
answer on the Answer-Sheet.
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11. ‘Doctor’ is related to ‘Patient’, in the same
way ‘Lawyer’ is related to

(a) Customer
(b) Magistrate
(c) Criminal

(d) Client

12. ‘Atom’ is related to ‘Molecule’, in the
same way ‘Cell’ is related to
(a) Matter
(b) Nucleus
(c) Organism
(d) Battery

13. ‘Flower’ is related to ‘Petal’, in the same
way ‘car’ is related to
(a) Wheel
(b) Passenger
(c) Luggage
(d) Garage




14. ‘Teacher’ is related to ‘Education’, in the
same way ‘Architect’ is related to .

(a) Crops
(b) Films
(c) Designs
(d) Cloths
15. ‘Bird’ is related to ‘Nest’, in the same way
‘Eskimo’ is related to
(a) Stable
(b) Igloo
(c) Palace
(d) Web
16. ‘Beautician’ is related to ‘Parlour’, in the
same way ‘Nurse’ is related to
(a) College
(b) Library
(c) Hospital
(d) Club
17. ‘Force’ is related to ‘Newton’, in the same
way ‘Weight’ is related to
(a) Second
(b) Ampere
(c) Kilogram
(d) Joule
18. ‘Chaos’ is related to ‘Peace’, in the same
way ‘Kind’ is related to
(a) Weak
(b) Rejoice
(c) Alertness
(d) Cruel
19. ‘Plant’ is related to ‘Tree’, in the same
way ‘Foal’ is related to
(a) Deer
(b) Horse
(c) Elephant
(d) Lion
20. °Fire’ is related to ‘Ashes’, in the same
way ‘Explosion’ is related to
(a) Flame
(b) Death
(c) Soynd
(d) Debris
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(Questions 21—30)

DIRECTION: In each of the questions 21 to 30,
some codes have been used to write words. Try to
find out the rule of coding in each case and answer
as per direction in the Answer-Sheet by putting
a cross-mark (x) inside the circle of the correct
alternative on the Answer-Sheet.
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21. If ‘GIRL’ is written as ‘FISK’ in a certain
code, then how would ‘BOY’ be written in the
same code?

(a) CPX
(b) APX
(c) APZ
(d) CPZ
22. If ‘HAPPY’ is written ‘IBQQZ’ in a

certain code, then how would ‘SORROW’ be
written in that code?

(a) TPSXX

(b) TPSXS

(c) TPXXP

(d) None of these

23. If Code for ‘SET’ is ‘UGV’, then what
would be the code for ‘BRICK’?

(a) CSIDL

(b) DSJEM

(c) DTKEM

(d) DTKFM.

If M =13, Then KITE = ?
(a) 45
(b) 30
(c) 40
(d) 20



25, If ‘RAJU’ is coded as 11-12-13-14 and
‘JUNKis coded as 13-14-10-9. Then how will you
code ‘RANK’?

(a) 9-10-11-12
(b) 11-12-10-9
(¢c) 12-11-10-9
(d) 10-11-12-9

26. In a certain code Language ‘786’ means
‘Study very hard’, ‘958" means ‘hard work plays’
and ‘645’ means ‘Study and work’, which of the
following is the code for “Very’

(a) 8
() 6
(c) 7
(d) None of these

27. In a certain code Language ‘BAT’ is
written ‘YZG’. How will ‘SICK” be written in that
same code?

(a) HRXP
(b) HRZP
(c) RHPX
(d) HRYV
28. If ‘ACNE’ is coded as 1-3-14-5, then
‘BOIL’ will be coded as—
(a) 5-31-21-25
(b) 2-15-9-12
(c) 5-29-19-25
(d) 5-29-19-27
29. In a certain code language ‘DOME’ is
written as ‘8943’ and ‘MEAL’ is written as *4321°.
What group of letters can be formed for the code
382497 .
(a) EOADM
(b) MEDOA
(c) EMDAO
(d) EDAMO
30. If ‘Parrot’ is known as ‘Peacock’, ‘Peacock’
is knows as ‘Swallow’, ‘Swallow’ is known as
‘Pigeon’ and ‘Pigeon’ is known as ‘Sparrow’, then
what would be the name of Indian National Bird?
(a) Parrot
(b) Swallow
(c) Peacock
(d) Pigeon !

(Questions 31—35)

DIRECTION: Read the following information
carefully and answer the questions 31 to 35 based
on it by putting a cross-mark (x) inside the circle

of the letter denoting your selected answer on the
Answer-Sheet.
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A, B, C,D, E, F and G are seven members
of a club. Each of them likes one day of the week
viz. Monday, Tuesday, Wednesday, Thursday,
Friday, Saturday and Sunday, not necessarily in
the same order. Each of them owns a different car
type viz. Swift, Alto, Figo, Beat, Sx4, Estillo and
Optra, not necessarily in the same order. C likes
wednesday and his favourite car is neither Sx4 nor
optra. E does not like Monday and his favourite car
is Beat. The favourite car of the one who likes
Friday is Figo. The one whose favourite car is
Estillo likes Tuesday. D likes Saturday and D’s
favourite car is not Sx4. G’s favourite car is Alto. F
likes Thursday. B does not like Estillo.

31. Who amongst them likes Tuesday?
(@) A
(b) C
(c) B
(d) None of these

32. Whose favourite car is Figo?
(@ A
(b) B
(c) F
@ C

33. Who amongst them like Sunday?
(@ A
(b) C
(c) F
(d) E

34. Whose favourite car is Sx4?
(a) B
(b) A
() F
(d D



35. Which of the following combination is
correct?
(a) F—Thursday—Estillo
(b) C—Wednesday—Swift
(¢) G—Monday—Alto
(d) All are correct

(Questions 36—45)

DIRECTION: In each of the following questions,
a number of series is given with one of the terms
missing. Choose the correct alternative that will
continue the same pattern and replace the question
mark (?) in the given series.
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36.

3.

38.

39.

41.

21,23,27, 33,7
(a) 37
(b) 41
(c) 43
(d) 49

2, 10, 30, 68,7
(a) 125
(b) 130
() 128
d) 135

1, 8,27,?
(a) 41
(b) 64
(c) 35
(d) 61

2,6,12,7, 30

(a) 18

(b) 24

() 20

(d) 26
1,2.10.37.101,7
(a) 402

(b) 206

(c) 226

(d) 320

1, 6, 15,2, 45, 66, 91
(a) 25

(b) 26

(c) 27

(d) 28
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42.

43.

68, 67, 64, 59,7
(a) 52
(b) 53
(c) 54
(d) 56

6, 13,25, 51,1017
(a) 201
(b) 202
(c) 203
(d) 205

32,19, 18,2
(a) 12
(b) 3

(© 1
d 5

45. 2,15,41,80,?
(@) 111
(b) 120
) 121
(d 132

(Questions 46—55) 1

DIRECTION: In each of the following questions,
arrange the given five words in a meaningful
sequence and then choose the most appropriate
sequence from amongst the alternative. Mark the
right alternative in the Answer Sheet.
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46. 1. Country,
4. Wood, 5. Trees

(@ 1,3,5,4,2
b 1,4,3,2,5
() 2,4,3,1,5
d) 52,3,1,4

47. 1. Mother,
4. Cry, 5. Smile

2. Furniture, 3. Forest,

2. Child, 3. Milk,



48. 1. Poverty, 2. Population,
4. Unemployment, 5. Disease
(a) 3,4,2,5,1
(b) 2,4,1,5,3
(c) 2,3,4,5,1
@ 1,2,3,4,5

3. Death,

2. Grass,

3. Butter,

50. 1. Index,
4. Chapters, 5.

2. Contents, 3. Title,

Introduction

2. Doctor,
5. Recovery

51. 1. Diagnosis, 3. Sick,

4, Treatment,

(Questions 56—65)

DIRECTION: In each of the questions 56 to 65, a
figure or a set of figure is given, each of which
bears certain numbers following a certain pattern.
You have to decipher this pattern and accordingly
find the missing number in the figure.

52. 1. Destination, 2. Booking, 3. Boarding,

4, Travel, 5. Planning
(@ 1,2,3,4,5
(b) 3,4,5,1,2
) 4,3,1,2,5
(4 5,2,3.4,1
53. 1. AndhraPradesh, 2. Universe,
3. Tirupati, 4. World, 5. India
(a) 1,5,3,2,4
®) 2,1,3,5,4
e 3,1,54,2
d 5,4,2,1,4
54. 1. Collector, 2. Governor, 3. Chief
Secretary, 4. President, 5. Clerk
(@ 1,2,3,4,5
(b) 51,3,2,4
() 5,1,3,4,2
(d 5,1,4,3,2
55. 1.Site, 2. Plan, 3.Rent, 4. Money,
5. Building
(a 4,1,2,5,3
(b) 3’ 4' 2! 5? 1
(e) 23,5 1,4
d 1,2,3,4,5
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3 5 3
B 7 5

(a) 4 (b) 5

b

126

(a) 127 (b) 31

: [7]

(c) 6 (d) 8
5

e
(c) 217 (d) 238



59.

61.

(a) 1 (b) 26 () 39 (d) 45

(@) 15 (b) 18 (¢) 20 (d) 24

(@ 5 (b) 6 (c) 8 d 9
@ ©, @ ® ® @
. @ @ ?
© @ ©
(a) 62 ®) 51 ' (c) 58 (d) 49

[8]




@ 1 |® @ ) © @
@ ©) ®
(a) 14 () 15 © 13 ) 12
5
? 2
3 1
G 3
15
a) 13 (®) 10 © 12 @ 9

Y e \@
® o)
(a) 13 (b) 10 d) 12
6
8
o 9
(@) 1 (b) 3 . (c) 64 (d) 121
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(Questions 66—70)

DIRECTION: This section deals with questions
on simple mathematical operations. Here, the four
fundamental operations addition, subtraction,
multiplication and division are represented by
symbols different from the usual one. You have to
solve the problem by substituting the real symbol
accordingly.
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66. If ‘+’ means ‘-’, ‘X’ means ‘+’, ‘+’ means
‘+’ and ‘-’ means ‘x’, then which of the following
will be the value of expression?

(7Tx35+2-4+5)
(@) 4

(®) 5

(c) 11

(d) None of these

67. If ‘P’ denotes ‘x’, ‘T’ denotes ‘-’, ‘M’
denotes ‘+’ and ‘B’ denotes ‘+’,then I2ZP6 M 15T
16B4="7

(a) 70
(b) 83
() 75
(d) 110

68. If ‘X’ means ‘+’, ‘+’ means ‘+’, ‘-’ means
‘x’ and ‘+’means ‘=", then6x4-5+2+1=7
(a) 10
(b) 11
(c) 12
(d 15 ‘

69. If ‘-’ stands fer ‘+’, ‘+’ stands for ‘x’, ‘+’
stands for ‘-’ and ‘x’ stands for ‘+’, then which of
the following equation correct?

(@) 4x5%x9+3+4=11
(b) 4-5+9%x3-4=17
(c) 4+5+9-3+4=18
d) 4+5x9+3-4=15

70. If‘+ means ‘%’, ‘%’ means ‘+’, ‘+’ means
‘-’ and ‘-’ means ‘+’ find the value of
(3x4l+5-6+7)=?
(@ 1g
() 13 -
1
(©) 13
(d) None of these

(Questions 71—80)

DIRECTION: In each of the questions 71 to 80,
three out of four figure are alike in some respect
and one is different from others. Find out the odd
figures in each question and indicate your answer
by putting a cross-mark (x) inside the circle of the
corresponding letter on the Answer-sheet.
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71,

DO

a b c

72.
DX P A
a b v d
73.
(o |5 4
a b c d
74.
= el
a b c d
78,

AIO O X

a b c

(=%
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76.

77.

78.

79.

T

I

TN

TRt

o0

a|DO

(Questions 81—85)

DIRECTION: In each of the questions 81 to 85
there is a short of blood relation puzzle. You are
required to ascertain the final relation. Indicate
your answer by putting a cross-mark (x) in the circle
of the corresponding letter on the Answer-sheet.
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81. Pointing towards a person, a man said to a
woman, ‘‘His mother is the only daughter of your
father’’. How is the woman related to that person?

(a) Daughter
(b) Wife

(c) Mother
(d) Sister

82. Showing the lady in the Park, Vineet said,
‘“‘She is the daughter of my grandfather's only
son’’, How is Vineet related to that lady?

(a) Brother
(b) Father
(¢) Uncle
(d) Cousin

83. Ramesh is the brother of Amit. Sushma is
the sister of Satish, Amit is the son of Sushma.
How is Ramesh related to Sushma?

(a) Father
(b) Brother
(c) Son

(d) Nephew

84. A boy introduced a girl as the daughter of
the son of the father of his uncle. The girl is the
boy's :
(a) nephew
(b) sister
(c) aunt
(d) cousin

85. ‘A’ is the brother of ‘B’. ‘C’ is the father
of ‘D’. ‘E’ is the mother of ‘B’. ‘A’ and ‘D’ are
brothers. Then what is the relationship between
‘E’ and ‘C’?

(a) Sister
(b) Sister-in-law
(c) Niece
(d) Wife

[11]



(Questions 86—90)
DIRECTION: Read the questions carefully and

answer the questions giving
correct answer,

‘x’ mark against

(Fod s Apa emel Ty g ite s Taa x
fous it Taa foft 33 1)

86'

87.

(3957)* =7

(a) 15657844
(b) 15657849
(c) 15657846

(d) 15657847

/N
E Q
H N
\V4
(a) M
(b) P
(c) K
(d R

You have ranked 15th out of 40 students

of your class. What is your rank from the last?

90.

[12]

(a) 23rd
(b) 24th
(c) 25th

(d) 26th

How many squares are there in this figure?

(@ 9 () 11 (0)113 d 14

How many triangles are there in this figure?

@6 ® 7 (@ 8 @ 9
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separate Answer-Sheet provided.

1. In this Paper you are to answer 90 questions.
Each question carries one mark.

2. Find out the correct answer to an item given
in the test booklet out of alternatives , @, @

and (d)and puta cross-mark inside the circle (X

surrounding the corresponding correct answer to the item
in the Answer-Sheet.

Banpie: @ ® © @
(Here ‘b’ is the correct answer.)

3. Itmay be presumed that the answer given by you
in the first attempt is incorrect and you want to revise
your answer. Blacken the circle completely and then
across-mark afresh inside the circle you think right. You
are not, however, permitted to revise your answer more
than once in each case.

4. However, there will be no penaity marks for a
WIONg answer.

5. You are to start recording answers with the
word ‘start’ from the Officer-in-Charge of your room/hall.

6. You are to write your name and Roil No. in the
space provided for this purpose on the Answer-Sheet
and Roil No. only on the cover-page of the Question
Booklet, Do not write your name in any part of the
Question Booklet.
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Mathematics

1

e 3
1. Ifx*+x=5, the value of (x + 3) Yo

is

(a) 120
(b) 130
() 105
) 110

If (x, y) =5, then (3,3) =
(a)

(b)

() 1
(d) xy
3. The value of 1+(2+1)(2%+ D@2+1)
2P+ 1D R%+1) 22+ 1)is

(a) 232
(b) 216
(e) 2%
(@) 2°

ﬁ:rﬁmkﬂm! i

4. If the number “21y5” is the multiple of 9,
where ‘y’ is a digit, the value of y

(a) 4
(b) 3
() 2
@1

5. H(x+y’-(x-y)?=44andx<y<0,the
integral values of x and y are respectively

(a) —11,-1
(b) -1,-11
&) -2, ~11
@) =11, -2
6. The value of (1 —é) (r 'a_il) (1 —0—4_1"—2)
....... (lwaia) is
(@) 1
(b) »
© %
@ 24

-

- 9]

sifels

K+x=5T (x+3)7> +
(a) 120
(b) 130
(c) 105
(d 110

1
(x + 3)

-43 N9

@ xy
3 1+Q+ D@+ D*+ D2+ 2% +1)
(22 + 1) ~9a 5w '
(a) 232
(b) 216
(c) 2%
(d) 28

4. M “21y5” WY 9-97 @3 wfies =,
QI y G OF, O y-97 W
(@) 4
() 3
(© 2
@ 1

5. (x+yP-(x-y) =44 9Rx<y<0TF xS
V=43 2RI T

(@ -11,-1

(b) -1,-11

() -2,-11

d -11,-2

6. (1-)(1-7pU—7....a -1
-3 e

@ 1

®) 2

© %!

@ 2



c+d

b

, b=c

L

7. If 2 locy
thevalucof%—i—-—% is
(@ 1
(b) -1
() 0
@ !

8. July 3, 1977 was a Sunday, then July 3,
1970 was a

(a) Wednesday
(b) Friday

(c) Sunday
(d) Tuesday

=landa-b+c#0,

9. If x=997, y=998, z=- 1995, then the
value of X* + y* + 22 — 3xyz is
(@ 0
(b) 1
© -1
d 3

10. fd* + a®* + b* = 8 and a? + ab+b* =4,
then the value of a* + b is

(@ 2
®) 3
) 4
@ 6

11. [If P is greater than Q by 60% and greater
than R by 30%, the ratio of Q and R is
(@ 1:2
(b) 2:1
(c) 13:16
(d 16:13

-

12. The average marks of boys and girls in a
class is 52 and 42 respectively. The average marks
of the whole class is 50. The percentage of boys in
the class is

(a) 60%
) 75%
(c) 80%
(d).90%

[4]
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(a) 3=

(b) w&F3E
(c) Rz
(d) =eaE

9. x=997,y=998 aR z =~ 1995 5@ x°+ y* +
Z -3xyz -43 W
(@ 0
(b 1
© -1
(d) 3

10. W a*+a’b* +b* =8 G’ +ab+b’ =4
O @’ + b* 93 N
(a) 2
(b) 3
(c) 4
d 6

11. P, Q-93 > 60% «R R-97 (4w 30% JT&7
TE Q @R R-47 SN
(@ 1:2
(b) 2:1
(c) 13:16
“(d) 16:13

12. @ fite I 9 IR 2Aie TET
NG JAF 52 4R 42| @ g ow YaRAwT 1e
793 50 7=, ifAbre e IETE wiE

(a) 60%
(b) 75%
(c) 80%
(d) 90%



13. 34 is divided into two parts in such a way
that 3th of one part is equal to Zth of the other
parts. The numbers are

(a) 21,13
(b) 13,21
(c) 20,14
(d) 14,20

14. At 8 O’Clock in the morning, if the value
of smaller angle formed by the hour-hand and
~ minute-hand of the clock be (3x + 3)°, the value
of xis

(@) 39
(b) 40
(c) 80
(d 79

1S. The HCF and LCM of three numbers are
6 and 420 respectively. If two numbers be 12 and
30, the third number is

(a) 21
(b) 18
(c) 42
d 70

16. If (x* - 1) cm, (3* + 1) cm and 2x cm are
the sides of a triangle, its greatest angle is

(a) 75°
(b) 60°
() 120°
(d) 90°

17. InAABC, AC=BCand ZABC =50°. The
side BC is produced upto D so that BC = CD. The
value of ZBAD is

() 90°
(b) 60°
(c) 75°
(d) 120°

[5]

13. 34 & amel i ke Rew 331 = = @bz
5wt S 2 e T T | AR b
(a) 21,13
(b) 13,21
(c) 20,14
(d) 14,20

14. 7om 851 W Wiew whr @3 s 5w
REE TSN @0 W (3x + 3)° T -7 TN
(a) 39
(b) 40
(c) 80
(d 79

15. ol My A8, € A, IWFE 6 9N
420 7 qorz g o AR 12 @38 30 T ORI
Y T3

(a 21
(b) 18
(c) 42
(d 70

16. 3 <= Rrgwem e (- 1) cm, (2 + 1)
cm €3 2x cm T, O3 fageba ggew @it 2@
(a) 75°
(b) 60°
(c) 120°
(d) 90°

17. AABC-93 AC =BC @32 ZABC = 50°. BC
e D +1% gzt I ¥ = @ BC = CD =|
ZBAD-43 W

(a) 90°
(b) 60°
). 73°
(d) 120°



18. The difference between the exterior angles
of two regular polygons of side x and (x + 1) is 5°.
Then x is equal to

(@ 3
(b) 5
() 8
@ 9
19. 4B of AABC is right angle and D is the
mid point of side BC. Then
(a) AC<AB
(b) AB<AD
(c) AB=AD
(d) AC<AD

20. The perimeter of a right-angled isosceles
triangle is V2 (Y2 + 1) meters. The length of the
hypotenuse is

(@ V2m

(b) 2m

© (V2+1)m
(d) 4m

[6]

18. x @& x+1 = REB ¥ Ew IwgEw
IR =R 5° 20 x-4F T T3
(a) 3
®) 5
(c) 8
@ 9

19. AABC® /B "9 @3k D, BC =3
wfg | ©i'eE
(a) AC<AB
(b) AB<AD
(c) AB=AD
(d AC<AD

20. @36 TN fRAr Terew AR
V2 (V2 + 1) oilbra | Sfegeie o =@
(@ Y2m
(b) 2m
© (V2+1)m
(d) 4m



21.

Physical Science

The value of “absolute zero of

temperature” in the Celsius scale is

22,

23.

24,

They have identical

25.

@) 0°C
(b) 32°C
(©) 273°C
(d) -273°C

Energy in the Sun is produced by
(a) Nuclear Fission '
(b) Nuclear Fusion

(c¢) Chemical Process

(d) Radioactivity

Solar eclipse occurs when,

(a) The earth comes between the sun and
the moon in a straight line.

(b) The moon is at right angle to the
earth,

(c) The moon comes between the earth
and the sun in a straight line.

(d) The sun comes between the moon and
the earth in a straight line.

Two bodies are in thermal equilibrium.

(a) thermal capacity
(b) specific heat
(c) mass

(d) temperature

At what temperature the density of water

is the maximqm?

(a) 0°C
(b) 4°C
(¢) 10°C '
(d) 20°C

[7]

21.

e 7@
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(b) =i it
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I SReSIT TR Ty A ¢
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(b) 4°C
(c) 10°C
(d) 20°C



26. Which one of the following liquids has the
maximum specific heat?

(a) Mercury
(b) Kerosene
(c) Water
(d) Milk

27. When the temperature of a metallic wire
increases, its resistance will

(a) increase

(b) decrease

(c) remain constant

(d) increase initially, then decrease

28. If the formula of the chloride of a metal is
MCI, then the formula of the sulphate of that metal
will be

(a) M(S0)),

(b) M,(50)),

(©) M,(S0),

(d) None of these

29. In aqua regia, the ratio of conc. HCL to
conc. HNO, is

(a) 3:1
(b) 1:3 .
(c) 2:1
(d 1:22

30. The melting point of a body is 0°C, in
Fahrenheit scale it will be

(@) O°F
(b) 5°F
() 32°F
(d) 212°F

[8]

26. fAsfiRe cwefm @Fba wmsifEs o
o5

(a) ~isw
(b) @@=
(c) &=

(d) 7%

27. N 4o A Tl 3% oA, 97 A
(a) 3@ =
(b) zFi
(c) @== A=
(d) = 3 corrm =itz g%t A

28. @b uoa @R ARS MCL, o
o7 AAFDT ALFS T
(a) M(SO,),
(b) M,(SO),

©) M,S0),
(d) 9l @D w3

29. el Rfem-cs 95 HCL @32 ¥4 HNO, -3
weeiiel 28
(a) 3:1
(b) 1:3
(c) 2:1
d) 1:2

30. @R 3¥F S 0°C 207 FIEFRIL0 FE O
EG|
(a) O°F
(b) 5°F
(c) 32°F
(d) 212°F



31. The velocity of radiant heat is 31. RFd 2%fere wivt Seerereg s

(a) 3x10™ m/s (a) 3x10" m/s
(b) 3%x10° m/s (b) 3x10° m/s
(c) 3x10% m/s (¢) 3x10% m/s
(d) 3x10" m/s (d) 3x10'' m/s

32. The potential difference across a 32. @i ARATT 7-2Ae Req erew so (=D
conductor is 10 volt. if ImA current passes 92 eRIEE 1mA 2@, “RFRBT @iy 5=

through the conductor then the resistance of the (a) 10KQ
conductor will be ®) 10Q
(a) 10KQ © 1009
(b) 10Q (d) 1000 Q
(c) 100 Q
(d) 1000 Q
 33. A lead pencil contains 33. TS iR A
(a) lead (a) 1o
(b) iron sulphide (b) == ATFRE
(c) phosphorus (c) Frar
(d) graphite (d) arPRD
34. Water is used as a coolant because it is 34. oA RN Tl 337 2H F
(a) Expensive (@) TN
(b) Easily available (b) weewre;
(c) ©ltoig o Afaars

(c) Good conductor of heat

(d) of high Sp. Heat (d) Tw% Seifrs o9 T=em

35. An electroscope is an instrument which is 35, Yen@cEs T TS =
used to 5 (a) W IS U SRy Aefizee
(a) detect the presence of charge of a (b) TETRGA O T
body (c) fam sfoeru Sesty w7 &
(b) view electrons (d) gufm @=0E T

(c) produce an electrostatic charge
(d) None of these

36. The glements present in marble are 36. A TS Cref 25
(a) C,O,H (@ C,0,H
(b) Ca,O,H (b) Ca,O,H
(¢) Ca,C,0 (c) Ca,C,0O
(d) Ca,C. H g (d) Ca,C,H

(9]



37. The Acidity of Calcium Hydroxide is 37, RN TREHRCH WHARS! 2

(@) 5 (a) 5
(b) 1 (b) 1
(c) 2 \ (c) 2
(d) 4 d 4

38. Which is an organic green house gas of the 38, PRl @b = e = 2TH e
following?

(a) CH,
(a) CH, ®) CO.
(©) CO @ NH,
(d) NH,

[10]



Life Science

39. Which of the following is not the correct
pairing of structure with function?

(a) Golgi Complex : breakdown of
complex molecules

(b) Mitochondria : production of ATP

(c) Endoplasmic reticulum : synthesis of
proteins

(d) Plastids : photosynthesis

40. Which type of tissue forms the inner lining
of a blood vessel?
(a) Epithelial
(b) Connective
(c) Nervous
(d) Muscle

41. From which portion of the cotton plant, the
cotton is produced?
(a) From the stem
(b) From the leaf
(c) From the seed coat
(d) From the flower

42. Extract of which plant portion is taken with
honey cure common cold & cough?

(a) From leaves of Neem

(b) From leaves of Tulsi

(¢) From bark of Cinchona

(d) From stem of Sarpagandha

43. The tissue with more or less elliptical, thin
walled cells having intracellular space is known as
(a) Parenchyma tissue
(b) Collenchyma tissue
(c) Sclerenchyma tissue
(d) Xylem tissue

44. Why the water is cooled down after boiling
for the use of experiment on seed germination?
(a) To germ free the water
(b) Toremove the nutrients from the water
(c) To remove the CO, from the water
(d) To remove the O, from the water

Giaw Qe

39. NI @G Mo € IS &) IS (TN TW?
(a) =% 3 ¢ wioa w9 e
(b) WRBATEH ¢ ATP Sesiie
(c) GreIBEE G ¢ (b ST

(d) 2PIw & AR

40. W RER IA AGANT TG AB o107 A ?
(a) oM T
(b) catot z=
(c) ==
(d) otz

41, T AR I T (LT G A A & e
(a) e (U
(b) TSl (AT
(c) o= (T
(d) T= (U=

42. SRR el Wy e T e R
W @ Ffra Sopi w0
(a) o et

(d) weformm Fied '

43, R TrgE, Al bl Gk Se-EEE
W ANES @ B i v e
(a) *R=IR T
(b) TP T
(c) CaE=Es T4
(d) wiReE™ =

44. @ ST TFEEMET HAHICS & FHR IS
JIE @G A
(a) o GRIGE IR G
(b) T& @ 2} s SRR o
(c) & T CO, AR Tl
(d) @ (AT O, WA &
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45. If ingradients like Copper sulphate, water
& a tea-cup is provided to you. What experiment
you may perform with these ingradients?

(a) Osmosis
(b) Diffusion
(c) Absorption
(d) Conduction

46. Which vein carries only oxygenated blood?
(a) Hepatic Portal vein
(b) Renal Portal vein
(c) Hepatic vein
(d) Pulmonary vein

47. In man right auricle receives the
deoxygenated blood but in toad which portion
receives the deoxygenated blood?

(a) Right auricle
(b) Sinus venosus
(¢) Truncus arteriosus
(d) Sinuauricular pore

48. How many cranial nerves are there in Toad?
(a) 12 pairs
(b) 13 pairs
(c) 10 pairs
(d) 11 pairs

49. Passage cell present in
(a) Epidermis
(b) Hypodermis
(c) Endodermis
(d) Pericycle

50. The largest digestive gland present in human
digestive system is
(a) Liver
(b) Salivary gland
(c) Gastric gland
(d) Pancreas

45. I Tore MR F9IT AETDE, T 93 I
B F (OIIE (RS TF, OIFrE G271 Seiwaet fwew
wfil @ AW FA00 AFR 2

(a) PR 3 wifeTae
(b) el
(c) oirms
(d) Rz

46. @ PRt wywia WS 3@ Sifided I
(a) i coiftter Pt
(b) @I cAiffite P
(c) eiib= foat

(@) T

47. SER oW S wfis CO, I 7@ 9% I -

% A R CHCF (T 920 ]I ?
(a) wiwe e
(b) &AM CSTAPIN
(c) Trapi wibiesP
(d) "o wffCar o

48. YIS LA WY A2 370 2
(a) 12 e
(b) 13 e
(c) 10 carel
(d) 11 cemel

49. g @ o T
(a) I
(b) ST
(c) T
(@) e

50. wiCER cRvemR 2o s dfg =
(a) 7F°
(b) =Emafg

() i afg
(d) wrmE
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' s

S1.

The Cellular organells devoid of unit

membrane is

52.
is

53.

54.

(a) Lysosome
(b) Microbody
(¢) Golgi apparatus
(d) Ribosome

The W.B.C. which is rarest in human blood

(a) Basophil

(b) Monocyte
(¢) Neutrophil
(d) Eosinophil

Kupffer cells are present in
(a) Small intestine

(b) Liver

(c) Pancreas

(d) Thyroid gland

How many lobes are present in right lung

of man?

5.

(@) Twolobes
(b) Three lobes
(c) Four lobes
(d) Five lobes

The outer covering of the brain is called
(a) Pleura

(b) Pericardium

(c) Germinal Epithelium

(d) Meninges

51. 933 “WiREW i sl = —

52.
A ?

53.

55.

[13]
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(a) QG
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(c) Wemi
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56.

57.

58.

59.
was

61.

History

‘Merchant of Venice’ was written by
(a) Francis Becuon

(b) William Shakespeare

(c) Edmond Spencer

(d) Cicero

The capital of Charlemagne was at
(a) Rome

(b) Berlin

(c) Akhen

(d) Paris

What happened on 14th July, 1789?
(a) Boston Tea Party

(b) Tennis Court Oath

(¢) Fall of Bastille

(d) In America the Declaration of
Independence was announced

Probably the Oldset University of Europe

(a) Oxford
(b) Bologna
(c) Salarno
(d) Cambridge

The second Battle of Tarain took place in
(a) 1027 AD. .

(b) 1191 AD.

(c) 1192 AD.

(d) 1206 A.D.

Who discovered the sea-route of America?
(a) Christopher Columbus

(b) Vasco-da-Gama

(c) Vasco-Nunez-de-Balboa

(d) Amerigo Vespucci

[14]
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62.

65.

67.

68.

Who invented ‘Printing Machine’?
(a) John Gutenburg

(b) Roger Bacon

(c) Francis Bacon

(d) James Watt

The battle of wandiwash took place in
(a) 1757 A.D.
(b) 1759 AD.
(c) 1760 A.D.
(d) 1763 A.D.

The last Lodi ruler of the Lodi dynasty was
(a) Bahlol Lodi

(b) Ibrahim Lodi

(c) Ilias Lodi

(d) Sikandar Lodi

The parliament of Russia is known as
(a) Duma

(b) Congress

(c) National Convention

(d) Reich Stag

‘The persian Letters’ was written by
(a) Rousseau

(b) Mabli

(c) Voltaire

(d) Montesquieu

‘Akbarnama’ was written by
(a) Akbar <

(b) Badauni

(c) Abul Fazl

(d) Nizam-ud-din Ahmad

The first president of the U.S.A. was
(a) Thomas Jefferson

(b) Jhon Kenedy

(c) Abraham Lincoln

(d) George Washington

[15]
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69.

Who among these was not a leader of Santal

Rebellion

70.

71.

(a) Chand
(b) Sidhu
(c) Birsha
(d) Kanhu

The partition of Bengal was annulled in
(a) 1905 A.D.
(b) 1909 A.D.
(c) 1911 AD.
(d) 1912 AD.

What was the immediate cause of the Revolt

of 18577

72.

(a) The annexation of Awadh

(b) The refusal of the British to Pay Nana
Sahib

(c) The introduction of Doctrine of Lapse

(d) The introduction of the new Enfield
Rifle

The ‘Indian National Army’ was formed by
(a) Netaji Subhas Chandra Bose

(b) Captain Mohan Singh

(c) Rashbehari Basu

(d) Shahnwaj Khan

[16]
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Geography

73. The local time at a place is 6a.m. When
G. M.T is 3a.m. The longitude of that place is

(a) 45°East

(b) 45° West
(c) 135°East
(d) 135° West

74. The upper part of the Earttis crust, i.e, ‘SIAL’
is composed of
(a) Acidicrocks
(b) Basicrocks
(¢) Neutral rocks
(d) Semineutral rocks

75. Which of the following formed by glacier?
(a) Breccia
(b) Philite
(c) Tilite
(d) None of above

76. Which climatic region has the least
temperature range?
(2) Equatorial region
(b) Monsoon region
: (c) Tropical region
3 (d) Mediterranean region

|
l 77. The main reason for the shifting of pressure
belt of the Earth is
(a) Swing ofangle ofinclination of Sun rays
due to Earth’s revolution

(b) Shifting of Longitude of the Earth
(c) Shifting of Cyclonic belt of the Earth
(d) Horizontal variations of pressure on the

78. The line joining the places of equal pressure
“of sea-level is called

(a) Isotherm
(b)* Isobar
(c) Isohyet
(d) Contour

weatE

73. IGH BT TN ANY T4 ASE OB, AfArsa
IR B (SR 9l | @ Beba wifks &
(@) 45° %
(b) 45° +(F5x
() 135° %%
(d) 135°<ifm
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(c) TV TNy S
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() ffRre gefare Term g ~Hfeéw
(d) -7 TR AR BITAT OISy
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79. ‘RingofFire’ refers to
(@) RingofEarthquake
(b) Five Permanent members of U. N.
(¢) Circum-Pacific seismic belt
(d) Five continents

80. Which rock is composed of a single mineral?
(@) Granite
(b) Basalt
(¢) Rhyolite
(d) Rocksalt

81. Which area is famous in terms of ‘Capital of
Sardin Fish’?
(a) California
(b) Spain
(c) France
(d) Japan

82. Which of the following State of U. S. A is
known as the ‘Sunshine State’?

(a) Florida
(b) Kansas
(c) Texas
(d) Louisiana

83. Mt. Mauna Loa, the highest volcano of the
world is situated in the

(a) PolynesiaIsland

(b) Melanesia Island J
(c) Micronesia Island
(d) Macronesia Island

84. Which country is called the ‘Land of Living
Fossils™?

(a) India
(b) Australia
() Mexico
(d) Brazil

79. EtAT (e’ T\
(a) efr=E I
(b) U.N.-a3 =I5l 2@ wwen
() SIS TR BIRATAR S <o
(d) =iof sryoe

80. 3 uE «fvw *mi At sif¥e M= ==
(a) aRS
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(b) ==
(c) =™
(d) @i
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2 oiffew 2

(a) rifet
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(c) &Pt

(d) =R
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85. The‘Sudd’isa
(a) Great mass of swamp vegetation float in
the section of the river nile and obstruct
the movement of boats

(b) Highland area in sudan

(c) Mass of vegetation stopping the stream
flow of Amazon

(d) A type of fodder crop grown mainly in
Africa

86. The landform, on which the ‘Death valley’ of
North America is developed
(a) Low synclinal valley
(b) Deep fault
(c) Techtonic low land
(d) Large depression developed by fall of
heavy meteor

87. The ‘Central Massiff’ of France is an

example of
(a) Fold Mountain

(b) Block Mountain
(c) Dissected Plateau
(d) Volcanic Mountain

88. Theterm ‘Eutrophication’ is relatad with
(a) Noise Pollution
(b) AirPollution
(c) Water Pollution
(d) Soil Pollution

89. Which ofthe following practices of cultivation
can be referred to as ‘Crop-rotation’?
(a) Different crops in different seasons
(b) Different crops in the same season
(c) Different seasons and different method
(d) None of above

90. How many ‘Race’ is in our world?
(@) One
(b) Two
(c) Three
(d) Four

85. g’ =
(a) TowTra G2 W TR SifSoe et
TRt ST SeTe Tigvery/nemeye) T
(b) I T g
(c) wmea oA ATt Sign/ o
(d) wifrem Tesiffe 92 21 o U

86. e wmfEIE @ TAg A e @
wiacers Bom o4re Tom Gz
(a) s Srarew Sore
() Sy
(c) gomdl e
(d) gmm@mmmwmwﬁw

87. TR ‘G WIFREE = g3l
(a) it ofs
b) wiofe
(c) afoen el
(d) wom o s

88. AWHIRTEIR I T
(@) =mEd
() I
(c) ==
(d) T Tt -3 X

89. fFwERe @F der FRIFW ST IR
AN A FS
(a) RfeH ¥yrs Riew WEA=CIAR
(b) =2 ¥ors RieH @EI TN
(o) ffem oy gz Rfew *af®
(d) TeizmEmbeay

90. T 7fiR3ice 2w wifS vl SR
(a) «=f
®) ®=P
(¢ =
(d) o=l
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